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QUESTION ONE

A young man of 29 years old is involved in a car accident and experiences head trauma.
You receive this man from the trauma unit in your ward already stabilized, but still semi
conscious.

a) Discuss the management of this man applying the principles of rehabilitation.
1) Where should you start rehabilitating this male and what should be
done at each level relating to head trauma?

(15)
ii) Applying the principles of activities of living by Nancy Roper et al, state
the in-depth assessment and diagnostic procedures to be carried out.  (10)
(25 MARKYS)
QUESTION TWO

This lady is 68 years old and is admitted with severe cirrhosis. Discuss the management
under the following headings:

1) Discuss briefly the pathophysiology of cirrhosis. &)
ii) Develop Three nursing diagnosis. 3)
iii) Discuss the possible causes of cirrhosis. 5
iv) From the three nursing diagnosis develop the management protocol applying
principles of rehabilitation. (12)
(25 MARKS)
QUESTION THREE

Madam Mkhonta is 76 years old and is suffering from severe arthritis. She is admitted in
your wards and you are the ward sister.

1) Discuss the pathophysiology of arthritis. (5
ii) Discuss the diagnostic procedures and possible results that will indicate that
she has arthritis. : (5

iil) Discuss the management protocol of this patient applying the activities of
daily living and using principles of rehabilitation focusing on the main patient
problems that might occur in relation to arthritis relating also the drugs that are
used for arthritis. (15)

(25 MARKS)

(TOTAL = 75)



